UNIVERSITY OF MISSOURI - Columbia Tuition Rates

Beginning with the 2024 Fall Session

					2023-2024	RATES	2024-2025 R	ATES		
Student Level or		Residence	Term	1 9/0/- 50-0	Per Credit	Plateau	Per Credit	Plateau	Percentage	Dollar
Professional Program	Tier	Status	Type	Plateau	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate		Missouri	Semester	12-18 Hours		\$6,500.00		\$6,825.00	5.0%	\$325.00
		Missouri	Semester	Rate Outside Plateau ¹	\$542.00		\$569.10		5.0%	\$27.10
		Missouri	Summer	None	\$350.00		\$367.50		5.0%	\$17.50
	Tier 1	Nonresident	Semester	12-18 Hours		\$16,600.00		\$17,430.00	5.0%	\$830.00
		Nonresident	Semester	Rate Outside Plateau ¹	\$1,384.00		\$1,453.20		5.0%	\$69.20
		Nonresident	Summer	None	\$467.00		\$490.40		5.0%	\$23.40
		Missouri	Semester	12-18 Hours	9401.00	\$7,400.00	8470,40	\$7,770.00	5.0%	\$370.00
		Missouri	Semester	Rate Outside	\$617.00		\$647.90		5.0%	\$30.90
	scattle at	Missouri	Summer	None	\$400.00		\$420.00		5.0%	\$20.00
	Tier 2	Nonresident	Semester	12-18 Hours	97051.00	\$17,500.00	3120,000	\$18,375.00	5.0%	\$875.00
		Nonresident	Semester	Rate Outside	\$1,459.00	3.17,000.00	\$1,532.00	\$10,373,00	5.0%	\$73.00
		Nonresident	Summer	None	\$517.00		\$542.90		5.0%	\$25.90
	_	Missouri	Semester	12-18 Hours	3317.00	\$8,300.00	3342.70	\$8,715.00	5.0%	\$415.00
		Missouri	Semester	Rate Outside		\$8,300.00		36,713,00	200000000000000000000000000000000000000	
		Missouri	Semester	Plateau ¹	\$692.00		\$726.60		5.0%	\$34.60
	Tier 3	Missouri	Summer	None	\$450.00	*** *** **	\$472.50	410.750.00	5.0%	\$22.50
		Nonresident	Semester	12-18 Hours Rate Outside		\$18,400.00		\$19,320.00	5.0%	\$920.00
		Nonresident	Semester	Plateau ¹	\$1,534.00		\$1,610.70		5.0%	\$76.70
		Nonresident	Summer	None	\$567.00		\$595.40		5.0%	\$28,40
Graduate	Tier I	Missouri	Semester	None	\$500.00		\$525.00		5.0%	\$25.00
		Nonresident	Semester	None	\$1,250.00		\$1,312.50		5.0%	\$62.50
	Tier 2	Missouri	Semester	None	\$535.00		\$561.80		5.0%	\$26.80
		Nonresident	Semester	None	\$1,285.00		\$1,349.30		5.0%	\$64.30
	Tier 3	Missouri	Semester	None	\$575.00		\$603.80		5.0%	\$28.80
		Nonresident	Semester	None	\$1,325.00		\$1,391.30		5.0%	\$66.30
	Tier 4	Missouri	Semester	None	\$650,00		\$682.50		5.0%	\$32.50
		Nonresident	Semester	None	\$1,400.00		\$1,470.00		5.0%	\$70.00
	Tier 5 ²	All	Semester	None	Range Min: \$575 - Max: \$1,400		Range Min: \$603.80 - Max: \$1,470			
Graduate Certificates ¹		All	Semester	None	Range Min: \$500 - Max: \$1,400		Range Min: \$525 - Max: \$1,470			
Law, JD		Missouri	Semester	None	\$760.60		\$788.60		3.7%	\$28.00
		Nonresident	Semester	None	\$960.60		\$998.60		4.0%	\$38.00
Law, LLM		Missouri	Semester	None	\$871.00		\$914.60		5.0%	\$43.60
		Nonresident	Semester	None	\$871.00		\$914.60		5.0%	\$43.60
Medicine, MD		Missouri	M1 & M2	18	\$1,171.40	\$21,085.20	\$1,230.00	\$22,140.00	5.0%	\$1,054.80
		Missouri	M3 & M4	20	\$1,171.40	\$23,428.00	\$1,230.00	\$24,600.00	5.0%	\$1,172.00
		Nonresident	M1 & M2	18	\$2,369.20	\$42,645.00	\$2,487.70	\$44,778.60	5.0%	\$2,133.66
		Nonresident	M3 & M4	20	\$2,369.20	\$47,384.00	\$2,487.70	549,754.00	5.0%	\$2,370.00
Occupational Therapy, MOT & OTD		All	Semester	None	\$598.90		5628.80		5.0%	\$29.90
OTD Distance Program		All	Semester	None	\$750.70		\$788.20		5.0%	\$37.50
Physical Therapy, DPT		All	Semester	None	\$598.90		\$628.80		5.0%	\$29.90
		Nonresident	Semester	None	\$1,396.40		\$628.80		-55.0%	(\$767.60
Veterinary Medicine, DVM		Missouri	Semester	16	\$973.60	\$15,577.60	\$1,022.30	\$16,356.80	5.0%	\$779.20
		Nonresident	Semester	16	\$2,324.00	\$37,184.00	\$2,440.20	\$39,043.20	5.0%	\$1,859.20

Note 1: Undergraduate per credit hour rates will be assessed to students enrolled in less than 12 credit hours or students enrolled in more than 18 hours will be assessed the plateau rate on the first 18 hours and per credit hour rate on additional hours taken. The amount reflected on the Board tuition schedule reflected the non resident premium rate. Non resident will include the Missouri tuition rate plus the premium non resident tuition rate.

Note 2: Graduate Tier 5 represents a National Market Range tuition pricing that can be accessed within range based on market sensitivity demand factors. A non-resident premium could be assessed up to current nonresident differential of \$787.50 per credit hour, but will not exceed maximum per credit hour amount.

Note 3: Graduate Tier 6 represents a tuition pricing range for certificates that can be accessed within range based on market sensitivity demand factors. A non-resident premium could be assessed up to current nonresident differential of \$750 per credit hour, but will not exceed maximum per credit hour amount.

UNIVERSITY OF MISSOURI - Columbia Supplemental Course Fee Beginning with the 2024 Fall Session

	2023-202	4 RATES	2024-2025 RATES			
	Per Credit Hour Rate	2550M3	Per Credit Hour Rate	Flat Rate	Percentage Change	Dollar Change
Professional Course Fees						
CVM Clinical Supplemental Fee		\$2,000.00		\$2,100.00	5.0%	\$100.00
Medical School Laboratory/Resource Fee		\$988.00		\$1,037.40	5.0%	\$49.40
Law Bar Prep Service Fee		N/A		\$150.00	N/A	N/A

MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY Tuition Rates Beginning with the 2024 Fall Session

2023-2024 RATES 2024-2025 RATES Per Credit Per Credit Dolhr Residence Tem Plateau Ph teau Percentage Stud ent Level Tier Status Platenu Hour Rate Rate Hour Rate Rate Change Change Type 12-18 Hours Undergraduate Missouri \$6,500.00 \$6,825.00 \$325.00 Semester \$542.00 \$569.00 \$27.00 Missouri Semester None 5.0% Freshman Missouri Summer None \$400.00 \$400.00 0.0% \$0.00 Rate \$15,200.00 \$760.00 Nonresident Semester 12-18 Hours \$15,960.00 5.0% None \$1,267.00 \$1,330.00 5.0% \$63.00 Nonresident Semester Nonresident Summer None \$575.00 \$575.00 0.0% \$0.00 Misscuri 12-18 Hours \$6,500.00 \$6,825.00 5.0% \$325.00 Semester \$542.00 \$569.00 \$27.00 Missouri Semester None 5.0% Missonei \$400.00 \$400.00 0.0% \$0.00 Summer None Tier 1 Nonresident Semester 12-18 Hours \$15,200.00 \$15,960.00 5.0% \$760.00 Nonresident None \$1,267.00 \$1,330.00 5.0% \$63.00 Nonresident None \$575,00 \$575.00 0.0% \$0.00 Summer Missouri Semester 12-18 Hours \$7,500.00 \$7,875.00 5.0% \$375.00 \$65600 Missouri Semester None \$625.00 5.0% \$31.00 \$450.00 \$450.00 0.0% \$0.00 None Tier 2 Nonresident \$16,200.00 \$17,010.00 5.0% \$810.00 Semester 12-18 Hours None \$1,418.00 Nonresident \$1,350,00 5.0% \$68.00 Samester \$625.00 \$625.00 0.0% \$0.00 Nonresident Summer None \$8,500.00 \$8,925.00 Missouri 12-18 Hours 5.0% \$425.00 Semester Missouri None \$708.00 \$744.00 5.1% \$36.00 Semester Missouri Summer None \$500,00 \$500.00 0.0% \$0.00 Tier 3 \$17,200.00 5.0% \$860.00 Nonresident Semester 12-18 Hours \$18,060.00 Nonresident None \$1,433.00 \$1,505.00 5.0% \$72.00 Semester \$675.00 Nonresident Summer None \$675.00 0.0% \$0.00 Graduate Missouri \$550.00 \$567.00 3.1% \$17.00 Semester Tier 1 Nonresident Domestic \$1,000.00 \$1,030,00 3.0% \$30.00 None Semester Nonresident International Semester None \$1,300.00 \$1,339.00 3.0% \$39.00 \$625.00 \$644.00 3.0% \$19.00 Missouri Semester None Tier 2 Nonresident Domestic Semester None \$1,075.00 \$1,107.00 3.0% \$32.00 Nonresident International None \$1,375.00 \$1,416.00 3.0% \$41.00 Semester Missouri Semester None \$725.00 \$747.00 3.0% \$22.00 Tier 3 Nonresident Domestic \$1,175.00 \$1,210.00 3.0% \$35.00 Semester None \$1,519.00 3.0% \$1,475.00 \$44.00 Nonresident International Semester None Missouri None \$750.00 \$773.00 3.1% \$23,00 Semester Tier 4 Nonresident Domestic Semester None \$1,200.00 \$1,236.00 3.0% \$36.00 Nonresident International Semester None \$1,500.00 \$1,545.00 3.0% \$45.00

UNIVERSITY OF MISSOURI - Kansas City Tuition Rates

Beginning with the 2024 Fall Session

	Tier	Residence Status		Plateau	2023-2024	RATES	2024-2025 RATES			
Student Level or Professional Program			Term Type		Per Credit Hour Rate	Plateau Rate	Per Credit Hour Rate	Plateau Rate	Percentage Change	Dollar Change
Undergraduate	NAME OF THE OWNER.	Missouri	Semester	None	\$373.00		\$391.65		5.0%	\$18.65
	UMKC	Nonresident	Semester	None	\$973.00		\$1,021.65		5.0%	\$48.65
	CORE 42	Kansas Rate	Semester	None	\$373.00		\$391.65		5.0%	\$18.65
	CORE 42	Heartland Rate	Semester	None	\$548.00		\$575.40		5.0%	\$27.40
		Missouri	Semester	None	\$373.00		\$391.65		5.0%	\$18.65
		Nonresident	Semester	None	\$973.00		\$1,021.65		5.0%	\$48.65
	Tier 2	Kansas Rate	Semester	None	\$373.00		\$391.65		5.0%	\$18.65
		Heartland Rate	Semester	None	\$548.00		\$575.40		5.0%	\$27.40
	-	Missouri	Semester	None	\$388.50		\$407.90		5.0%	\$19.40
	10000000000	Nonresident	Semester	None	\$988.50		\$1,037.90		5.0%	\$49.40
	Tier 3	Kansas Rate	Semester	None	\$388.50		\$407.90		5.0%	\$19.40
		Heartland Rate	Semester	None	\$563.50		\$591.70		5.0%	\$28.20
	\vdash	Missouri	Semester	None	\$420.00		\$441.00		5.0%	\$21.00
	2280C1 T00	Nonresident	Semester	None	\$1,020.00		\$1,071.00		5.0%	\$51.00
	Tier 4	Kansas Rate	Semester	None	\$420.00		\$441.00		5.0%	\$21.00
		Heartland Rate	Semester	None	\$595.00		\$624.75		5.0%	\$29.75
	_	Missouri	Semester	None	\$444.00		\$466.20		5.0%	\$22.20
		Nonresident	Semester	None	\$1,044.00		\$1,096.20		5.0%	\$52.20
	Tier 5	Kansas Rate	Semester	None	\$444.00		\$466.20		5.0%	\$22.20
		Heartland Rate	Semester	None	\$619.00		\$649.95		5.0%	\$30.95
	\vdash	Missouri	Semester	None	\$450.00		\$472.50		5.0%	\$22.50
	200000000000000000000000000000000000000	Nonresident	Semester	None	\$1,050.00		\$1,102.50		5.0%	\$52.50
	Tier 6	Kansas Rate	Semester	None	\$450.00		\$472.50		5.0%	\$22.50
		Heartland Rate	Semester	None	\$625.00		\$656.25		5.0%	\$31.25
	\vdash	Missouri	Semester	None	\$465.00		\$488.25		5.0%	\$23.25
	Jacobs Counciled	Nonresident	Semester	None	\$1,065.00		\$1,118.25		5.0%	\$53.25
	Tier 7	Kansas Rate	Semester	None	\$465.00		\$488.25		5.0%	\$23.25
		Heartland Rate	Semester	None	\$640.00		\$672.00		5.0%	\$32.00
		Missouri	Semester	None	\$483.00		\$507.15		5.0%	\$24.15
	1522501800	Nonresident	Semester	None	\$1,083.00		\$1,137.00		5.0%	\$54.00
	Tier 8	Kansas Rate	Semester	None	\$483.00		\$507.15		5.0%	\$24.15
		Heartland Rate	Semester	None	\$658.00		\$690.90		5.0%	\$32.90
		Missouri	Semester	None	\$534.00		\$560.70		5.0%	\$26.70
	2000	Nonresident	Semester	None	\$1,134.00		\$1,190,70		5.0%	\$56.70
	Tier 9	Kansas Rate	Semester	None	\$534.00		\$560.70		5.0%	\$26.70
		CATHOLINE STATES					500000000000000000000000000000000000000			\$35.45
		Heartland Rate	Semester	None	\$709.00		\$744.45		5.0%	\$35.4

UNIVERSITY OF MISSOURI - Kansas City Tuition Rates

Beginning with the 2024 Fall Session

			Plateau	2023-202	4 RATES	2024-202	5 RATES	Percentage Change	Dollar Change
Student Level or Professional Program	Residence Status	Term Type		Per Credit Hour Rate	Plateau Rate	Per Credit Hour Rate	Plateau Rate		
Graduate	Missouri	Semester	None	\$488.00		\$512.40		5.0%	\$24.40
	Nonresident	Semester	None	\$1,225.00		\$1,286.25		5.0%	\$61.25
	Metropolitan	Semester	None	\$488.00		\$512.40		5.0%	\$24.40
Anesthesia, UMKC	Missouri	Semester	18		\$14,568.00		\$15,296.40	5.0%	\$728.40
MS	Missouri	Summer	12		\$9,712.00		\$10,197.60	5.0%	\$485.60
	Nonresident	Semester	18		\$17,321.00		\$18,187.05	5.0%	\$866.05
	Nonresident	Summer	12		\$11,550.00		\$12,127.50	5.0%	\$577.50
Med Physician Asst	Missouri	Semester	18		\$13,139.00		\$13,795.95	5.0%	\$656.95
MS	Missouri	Summer	12		\$8,760.00		\$9,198.00	5.0%	\$438.00
10000	Nonresident	Semester	18		\$15,690.00		\$16,474.50	5.0%	\$784.50
	Nonresident	Summer	12		\$10,460.00		\$10,983.00	5.0%	\$523.00
Dentistry, DDS	Missouri	Semester	16	\$1,296.38	\$20,742.00	\$1,354.70	\$21,675.00	4.5%	\$933.00
	Missouri	Summer	8	\$1,296.38	\$10,371.00	\$1,354.70	\$10,837.70	4.5%	\$466.70
	Nonresident	Semester	16	\$2,565.69	\$41,051.00	\$2,681.10	\$42,898.00	4.5%	\$1,847.00
	Nonresident	Summer	8	\$2,565.69	\$20,525.52	\$2,681.10	\$21,449.00	4.5%	\$923.48
Dentistry, DDS	All	Semester	16				\$41,484.00	N/A	N/A
Advanced Standing	All	Summer	8				\$20,742.00	N/A	N/A
Dentistry,	Missouri	Semester	14	\$1,366.43	\$19,130.00	\$1,427.90	\$19,990.85	4.5%	\$860.85
Graduate Certificate	Missouri	Summer	7	\$1,366.43	\$9,565.00	\$1,427.90	\$9,995.40	4.5%	\$430.40
and MS	Nonresident	Semester	14	\$2,706.86	\$37,896.00	\$2,828.70	\$39,601.32	4.5%	\$1,705.32
	Nonresident	Summer	7	\$2,706.86	\$18,948.00	\$2,828.70	\$19,800.00	4.5%	\$852.00
Law, JD	Missouri	Semester	None	\$720.00	0100 10100	\$752.40	***********	4.5%	\$32.40
	Nonresident	Semester	None	\$920.00		\$961.40		4.5%	\$41.40
Law, LLM	Missouri	Semester	None	\$874.00		\$913.30		4.5%	\$39.30
	Nonresident	Semester	None	\$1,792.00		\$1,872.64		4.5%	\$80.64
Medicine,	Missouri	Semester	16	\$812.13	\$12,994.00	\$812.13	\$13,643.70	5.0%	\$649.70
MD, Years 1 and 2	Missouri	Summer	8	\$812.13	\$6,497.00	\$812.13	\$6,821.80	5.0%	\$324.80
	Regional	Semester	16	\$1,209.06	\$19,345.00	\$1,209.06	\$20,312.20	5.0%	\$967.20
	Regional	Summer	8	\$1,209.06	\$9,672.50	\$1,209.06	\$10,156.00	5.0%	\$483.50
	Nonresident	Semester	16	\$1,606.00	\$25,696.00	\$1,606.00	\$26,980.80	5.0%	\$1,284.80
	Nonresident	Summer	8	\$1,606.00	\$12,848.00	\$1,606.00	\$13,490.40	5.0%	\$642.40
Medicine,	Missouri	Semester	18	\$848.67	\$15,276.00	\$848.67	\$16,039.80	5.0%	\$763.80
MD, Years 3 thru 6	Missouri	Summer	12	\$848.67	\$10,184.00	\$848.67	\$10,693.20	5.0%	\$509.20
	Regional	Semester	18	\$1,264.00	\$22,752.00	\$1,264.00	\$23,889.60	5.0%	\$1,137.60
	Regional	Summer	12	\$1,264.00	\$15,168.00	\$1,264.00	\$15,926.40	5.0%	\$758.40
	Nonresident	Semester	18	\$1,679.11	\$30,224.00	\$1,679.11	\$31,735.20	5.0%	\$1,511.20
	Nonresident	Summer	12	\$1,679.11	\$20,149.33	\$1,679.11	\$21,156.80	5.0%	\$1,007.47
Pharmacy, Dpharm	Missouri	Semester	15	\$980.53	\$14,708.00	\$980.53	\$15,222.80	3.5%	\$514.80
- many, where	Missouri	Summer	6	\$980.53	\$5,883.20	\$980.53	\$6,089.11	3.5%	\$205.91
	Nonresident	Semester	15	\$2,134.13	\$32,012.00	\$2,134.13	\$33,132.40	3.5%	\$1,120.40
	Nonresident	Summer	6	\$2,134.13	\$12,804.80	\$2,134.13	\$13,253.00	3.5%	\$448.20
Nursing Graduate	Missouri	Semester	None	\$707.00	512,001.00	\$742.35	243345550	5.0%	\$35.35
	Nonresident	Semester	None	\$1,327.00		\$1,393.35		5.0%	\$66.35

UNIVERSITY OF MISSOURI - Kansas City Supplemental Course Fee Beginning with the 2024 Fall Session

	2023-2024 RATES		2024-2025	RATES		
	Per Credit Hour Rate	Flat	Per Credit Hour Rate	Flat Rate	Percentage Change	Dollar Change
Graduate/Professional Supplemental Fees						
STEM/Health Profession Supplemental Fees						
Counseling Psychology Graduate Course Fee	\$44.40		\$46.40		4.5%	\$2.00
Social Work Field Graduate Education Fee	\$30.10		\$50.00		66.1%	\$19.90
Nursing Simulation Course Fee	\$78.00		\$81.50		4.5%	\$3.50
Nursing Clinical Fee	\$272.70		\$285.00		4.5%	\$12.30
Engineering and Computer Science Course Fee	\$111.30		\$114.65		3.0%	\$3.35
School of Medicine Simulation & Assessment Yrs 1-2		\$200.30		\$210.30	5.0%	\$10.00
School of Medicine Simulation & Assessment - other		\$318.30		\$334.20	5.0%	\$15.90
Business and Law Supplemental Fees				-		
Bloch School Graduate Business Supplemental Fee	\$120.50		\$120.50		0.0%	\$0.00
Bloch School Public Administration Graduate Course Fee	\$48.00		\$48.00		0.0%	\$0.00
Legal Bar Preparation Fee - New	\$10.00		\$10.00		N/A	N/A
Legal Technology Fee (Law School)	\$11.00		\$11.00		0.0%	\$0.00
Education and Other Program Course Fees				-		
Education Course Fee	\$20.34		\$21.25		4.5%	\$0.91
Online Course Fee	\$54.10		\$56.80		5.0%	\$2.70
Conservatory Graduate Program Fee	\$70.55		\$73.70		4.5%	\$3.15

Note 1: These course fees were assessed to undergraduates and graduate students, going forward these course fees will only be assessed to graduate students.

UNIVERSITY OF MISSOURI - St. Louis Tuition Rates Beginning with the 2024 Fall Session

					2023-202	4 RATES	2024-202	5 RATES	Percentage Change	Dollar Change
Student Level or Professional Program	Tier	Residence Status	Term Type	Plateau	Per Credit Hour Rate		Per Credit Hour Rate	1,0,000,000,000,000		
Undergraduate	Tier 1	Missouri Nonresident	Semester Semester	None None	\$480.00 \$1,194.00		\$504.00 \$1,254.00		5.0% 5.0%	\$24.00 \$60.00
	Tier 2	Missouri Nonresident	Semester Semester	None None	\$541.00 \$1,255.00		\$568.00 \$1,318.00		5.0% 5.0%	\$27.00 \$63.00
	Tier 3	Missouri Nonresident	Semester Semester	None None	\$584.00 \$1,298.00		\$613.00 \$1,363.00		5.0% 5.0%	\$29.00 \$65.00
	Tier 4	Missouri Nonresident	Semester Semester	None None	\$593.00 \$1,307.00		\$623.00 \$1,372.00		5.0% 5.0%	\$30.00 \$65.00
Graduate	Tier 1	Missouri Nonresident	Semester Semester	None None	\$614.00 \$1,460.00		\$645.00 \$1,533.00		5.0% 5.0%	\$31.00 \$73.00
	Tier 2	Missouri Nonresident	Semester Semester	None None	\$661.00 \$1,507.00		\$694.00 \$1,582.00		5.0% 5.0%	\$33.00 \$75.00
	Tier 3	Missouri Nonresident	Semester Semester	None None	\$769.00 \$1,615.00		\$807.00 \$1,696.00		5.0% 5.0%	\$38.00 \$81.00
	Tier 4	Missouri Nonresident	Semester Semester	None None	\$889.00 \$1,735.00		\$933.00 \$1,822.00		5.0% 5.0%	\$44.00 \$87.00
Optometry, OD		Missouri Nonresident	Semester Semester	16 16	\$880.00 \$1,453.00	\$14,078.00 \$23,240.00		\$14,560.00 \$24,032.00	3.4% 3.4%	\$482.00 \$792.00

UNIVERSITY OF MISSOURI - St. Louis

Supplemental Course Fee

Beginning with the 2024 Fall Session

	2023-2024	RATES	2024-2025 RATES			
	Per Credit Hour Rate	Flat Rate	Per Credit Hour Rate	Flat Rate	Percentage Change	Dollar Change
Professional Supplemental Fees		5				
Patient Care Center Facility Fee		\$900.00		\$900.00	0.0%	\$0.00

eLearning and Special Program Delivery Beginning with the 2024 Fall Session

	2023-202	24 Rates	2024-202	5 Rates		
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
	Hour Rate	Rate	Hour Rate	Rate	Change	Change
MU						
Undergrad Distance Program & Special Delivery Tuition - Maximum ¹	\$1,100.00		\$1,155.00		5.0%	\$55.00
Graduate Distance Program & Special Delivery Tuition - Maximum	\$2,250.00		\$2,362.50		5.0%	\$112.50
Missouri S&T						
Undergrad Distance Program & Special Delivery Tuition - Maximum 1	\$1,433.00		\$1,505.00		5.0%	\$72.00
Graduate eLearning and Special Program Delivery Maximum	\$3,000.00		\$3,000.00		0.0%	\$0.00
Examination Only - Graduate Enrollment		\$550.00		\$567.00	3.1%	\$17.00
CE Instructional Fee (for credit) - Maximum	\$3,000.00		\$3,000.00		0.0%	\$0.00
UMKC						
Undergrad Distance Program & Special Delivery Tuition - Maximum 1	\$967.68		\$1,016.00		5.0%	\$48.32
Graduate eLearning and Special Program Delivery Maximum	\$1,204.04		\$1,264.25		5.0%	\$60.21
Examination Only and Audit - Undergraduate Enrollment		\$346.00		\$391.65	13.2%	\$45.65
Examination Only and Audit- Graduate Enrollment		\$466.30		\$512.40	9.9%	\$46.10
CE Instructional Fee (for credit) - Maximum	\$1,198.30		\$1,258.20		5.0%	\$59.90
UMSL						
Undergraduate eLearning and Special Program Delivery Maximum ¹	\$1,128.90		\$1,185.00		5.0%	\$56.10
Graduate eLearning and Special Program Delivery Maximum	\$2,215.40		\$2,326.00		5.0%	\$110.60
Examination Only - Graduate Enrollment		\$578.23		\$607.00	5.0%	\$28.77
CE Instructional Fee (for credit) - Maximum	\$2,215.40		\$2,326.00		5.0%	\$110.60

Note: Special Delivery Tuition includes consortium agreements with other post secondary institutions and reciprocal exchange agreements with post secondary international institutions.

Note 1: Rates presented in the table above reflect the maximum rate assessed for eLearning and special program delivery, minimum rate is equal to resident undergraduate summer tuition rate. This rate is not a supplement fee or course fee it is a range set for specific program delivered through a nontraditional delivery mode.

Note 2: With the implementation of Differential Tuition, dollar and precent change will not be presented for table below as rates are not comparable to prior academic year. Per CRR 230.060 undergraduate eLearning tuition may fluctuate within the range of the current resident and non-resident rate based on market demand. Graduate and Professional eLearning tuition rates will be limited to a range approved by the Board.